Lesson 7.3- Solving Quadratic Equations by the Quadratic Formula.notebodlanuary 24, 2018

Kickoff-

Fill out the rubric for participation and
hand it to me to get our worksheet!

(Then do the kickoff!)
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/T Standard form for the quadratic equation; ax” + bx + ¢ = 0
Sackol -

Quadratic equations can have different nature (types) of roots. They are:
Rational- £ G\ ‘&C:}-BY

Trrational-

has & Square (0T in the answer.
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Imaginary-

To solve a quadratic equation that does not have rational roots (cannot be factored) we must use the quadratic

Directions: Use the quadratic equation to solve for the roots.
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Steps to Solving with the Quadratic Formula:

1) Put the equation in standard form. cqeals 2evo-
2) Labela.bandc.

3) Substitute a, b and ¢ into the quadratic formula. ****
4) Simplify! (using PEMDAS!)
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Example:
1) x*—10x+13=0
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4)2x% + 5x =12 SHx2—6x+7=0
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6)x2—8=10 T)3x2+T7x+2=0

8) x? + 10x = 4 9x2—10=0
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